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Pl)=-—t =1
1-2-3 6
RHS =
Ix(1+3) 1x A 1

P(1) =

AF «ifoie P(n), n = k & fAg a1 81
foeft e quifes & & fore seamn AifSie fas P (k) @ 8, srafa

1 1 1
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1
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1

(k+1)(k+2) |

1
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4
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|
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1
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|
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|
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C4(k+1)+1][(k+1)+2

4. OIS & fagid 15 avnlearn.com
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Question 12 :

at+ar+ari4 .- +arl =
r—1

Solution :

o & g e P(n) &, sigfq

=1
P(n)=a+ar+ar2+...+arn—1:(1(7‘—1)
r—
n=1
LHS =
P(l)=a
RHS =

TH AT P(n), n =k & Ru = 81
freft & qutten K & forg reu hifore 6 P(k) @ 8, srarfd

pr_ o= 1)

Pkk)=a+ar+ar’+---+ar 1
r—
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P(k—i‘l)=a+ar+ar2+.-.+ar(k+1)—1
= [a+a7’+a7‘2+'--—i—ark_1]+ar(k+1)—1
:[a+ar+ar2+...+wk—1]+ark
a(r*—1)
:{ﬁ
[k —1
:a_r—l —Hﬂk}
_Tk—l—l-rk(r—l)}
=a

} +ark

i r—1
_rk—i—rk(r—l)—l}
=a

i r—1
_a'rk[1+(r—1)]—1]

i r—1
1)

—a__ 1—i—r_11 1}
rk[/l/—l—r—/l/}—l

r—1

_rk-r—l]
=q | —
r—1

:’I”k+1—1
- | r—1 ]
a(,,,.k+1_1)
T

ggusR, P(k+ 1) 9@ 8, sl &+t P(k) 9@ 81
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Question 13 :

<1+%> <1+%> <1+g)+---+<1+(2’2—j1)):(n+1)2

Solution :

A1 <t fadr e P(n) 8, srfq

P(n)z(l—l—%) (1+%) (1+%>+-~~+<1+(2n’n—j1)>:(n+1)2

P(l):<1+%):1+3:4
RHS =
P1)=(141)°=22=4

AF ST P(n), n = k & fAg o= 81

4. OIS & fagid 17 avnlearn.com



forelt e quifes k & foig sheamn e fos P(k) @ &, srafd

P(k) = (H%) (1+%> <1+%>+'--+(1+ (2kk-;1)

sggARgddtfn P(k+ 1) ffiaxg,

P(k+1):<1+%> <1+g> <1+g>+ ..+<1+ (2 (k+i) ))
) () (o) oo (0 F ) (00
O () (o) oo (0 F) (00

= (k+1)° +<1+ 2k + 3 >

(k+1)2
:M (k+1)?+2k+3
(k1

=(k+1)*+2k+3
=k 42k +1+2k+3
— k>4 4k +4

=k +2-k-2+2?

= (k+2)?

= [(k+1)+2°

ggusR, P(k + 1) 9@ 8, sl &+t P(k) 9@ 81
31 I ST fagid & Ft urepd dw=nait N & fog e P(n) 9 8l

Question 14 :

(B (D) d) e (2) oo

Solution :

A1 <t faar e P(n) 8, srfq

o= (1 1) (142) (1 1) (14 1) =

~n=1

LHS =
P(1) = (HT) —1+1=2
RHS =
P(1)=(14+1)=2

AF oY P(n), n = k & fAg a1 81
foeft e quifes & & fore sheamn AifSie fas P(k) @ &, srafa
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P(k) = (1+%) (1+%> <1+§>...<1+%> —(k41) e (d)

sggifgafh P(k+ 1) fiaag,

$$
Pk+1) = <1+%> <1+%) (”%)"'(”ﬁ)
_ Kl%—%) <1+%> <1+§)(1+%)] <1+ﬁ>
= (k+1) <1+ﬁ) leq(i) &
()
= [(k+1)+1]
$$

g UHR, P(k + 1) 918, Siw &t P(k) 9 81
31 I ST fAgid & Fft urepd Fw=nait N & g wee P(n) 9 8l

Question 15 :

on —1)(2n + 1
12+32+52+...+(2n—1)2:”(” ;(”Jr)

Solution :

q1 <t faar e P(n) 8, i

on —1)(2n + 1
P(n):12+32+52+--~+(2n—1)2:n(n )2n+1)

3
n=1
LHS =
P1)=1*=1
RHS =

1><(2><1—1)(2><1+1)_1><1><3_3_1
3 N 3 3

P(1) =
A &fifSg P(n), n = k & foig a1 g1
fereht e quifen k & e sheaen hifSie 6 P (k) o &, srarfa

k(2k — 1)(2k + 1)

P(k)=12+3" 452+ .-+ (2k —1)* =

g Rgddtfr P(k+ 1) sfiaag,

4. OIS & fagid 19
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Pk+1)=12+3"+ 5+ + (2(k +1) - 1)’

= [12482 84 2k 1]+ 2R+ 1) - 1)
— _k(%_lg(%H)] +(2k+2-1) .. .eq(i)®
(2 — 1)(2k + 1)

- 2 ]+(2k+1)2

k(2k —1)(2k + 1) + 3(2k 4+ 1)°

3
[ k(2k—1)+3(2k+1)
.
[ 2k? — k+ 6k + 3
o
[ 2k? + 5k + 3
]
[ 2k% + 2k + 3k + 3
e
[2k(k+ 1) + 3(k + 1)
S
_ k4 1) @k+?w+1q
(2k +1)(2k + 3)(k + 1)

3

(k+1)[2(k+1) —1][2(k+1) + 1]
3

— (2k+1)

= (2k+1)
= (2k+1)

= (2k+1)

= (2k+1)

g9 uaR, P(k + 1) 98, sla &t P(k) 93 &1
31d: oI ST fiigia & |+t urgpa wemstt N & fag see P(n) 9 &1

Question 16 :

S SRS SRR 1 n
1-4 4.7 " 7-10 (Bn—2)3n+1) (3n+1)

Solution :

A1 <t fedr & P(n) 8, i

Py= -+ Lo Loy L __n
1-4 4.7 " 7-10 (3n—2)(3n+1) (3n+1)
n=1
LHS =
1 1
P=v73=1
RHS =

avnlearn.com



(3x1+1)
1
- (3+41)
_1
!
A AT P(n), n =k & T T g1
forett e quifes & & fore sheamn hifSie fos P (k) @ &, srafd
1 1 1 1 k _
P(k):1-4+4-7+7~10+'”+(3k—2)(3k+1):(3k+1) e (0)
sggfRgdfh P(k+ 1) fiaag,
1 1 1 1
P(kH):1-4+4-7+7-10+"'+[3(k+1)—2][3(k+1)+1]
B O S SRS SR 1 . 1
|14 T 47 T 710 (Bk—2)3k+1)|  [B(k+1)—2][3(k+1)+1]
k 1 .
[eq(i) =]

T BktD)  GkrD(Bkt4
3k+1|  3k+4

1 [k(Bk+4)+1

- 3k+1| 3k+4 }

1 [3K*+4k+1

- 3k+1| 3k+4 }

3K +4k+1

 (Bk+1)(3k+4)

3K +3k+k+1

~ (3k+1)(3k +4)

_ 3k(k+1)+ (k+1)

- (Bk+1)(3k+4)

(kAT (k+1)

B(k+1)+1]
ggusR, P(k + 1) 9@ 8, sl &+t P(k) 9@ 81
3: oI ST fagia & |t ugha dwareti N & foiw e P(n) 9@ 81

Question 17 :

LN SRS S 1 _n
3.5 5.7 7-9 (2n+1)2n+3)  3(2n+3)

Solution :

A1 <t fedr & P(n) 8, i
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1 1 1 1 n

P — PP =
M=t s 70 i D@3 3@nt3)
n=1
LHS =
1
Pl)= — = —
W=575=1
RHS =
1
P(1) =
(1) 3(2x1+3)
1
©3(2+3)
1
3x5 15
A4 AT P(n), n = k & fg o= &1
foreht e quifen k & e sheaen hifSie i P (k) e &, srarfa
1 1 1 1 k
P(k) = =
W =5t 7ot T @@k 3@k Q
s Rgadfh P(k+ 1) sfhaxa g,
1 1 1 1
P(k+1) =
kD) =t s T et T REr )T DRET D 1 3)
Y . L + L
135 5.7 7.9 (2k + 1)(2k + 3) 2(k+1)+1)(2(k+1) +3)
k 1

32k+3) (k24 D)2k 2+ 3) leq(i) &7

k 1
3(2k+3) | (2k+3)(2k+5)
1 [k 1
2k+3_§+(2k+5)]
1 [k(2k+5)+3
2k +3 | 3(2k+5) }
1 [2k*+5k+3
2k +3 | 3(2k+5) }
2k? + 5k + 3
3(2k + 5)(2k + 3)
2k? + 3k + 2k + 3
3(2k + 5)(2k + 3)
k(2K + 3) + (2k + 3)
3(2k + 5)(2k + 3)

(k+1) (23]
3(2k +5) (2b+73)

(k+1)
3(2k +5)
(k+1)
3(2(k+1)+3)
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g9 ueR, P(k + 1) 9@ g, s &t P(k) 9@ 8l
3ra: vt s Rigia @ et uighd Tt N & fag e P(n) 9 21

Question 18 :
1 2
1+2+3+---+n<§(2n+1)

Solution :

A i faar wem P(n) 8, 9rafq

1
Pn):1+2+3+---+n< —(2n+1)°

8
~n=1
P(1):1
1 2_ 1 21 g2 1 g 9
P(1): 8(2><1+1) —8(2+1) =3 x 3 =3 X9 = 3
A AT P(n), n = k & g I3 81
feret &1 quifen & & foiw e hifSie & P (k) & 8, srafa
1
P(k)=1+2+3+---+k<§(2k+1)2 .. (3)
sggfligaAfh P(k+ 1) fiaxag,
1
P(k:+1):1+2+3+---+k<§(2k+1)2 ...eq(i) &
1
1+2+3+---+k+(k+1)<§(2k+1)2+(k+1)
(2k+1)°+8(k + 1)
< 8
4k* +4k+1+8k+8
< 8
4k + 12k +9
< g
(2k)2 42 -2k - 3 + 32
<
8
2k + 3)2
<( ; )

< %[2(k+1)+1]2
gqUaR, P(k + 1) 9 8, Siw &t P(k) 9 81
31 I ST fagid & Ft urepd dw=nait N & fog e P(n) 9 8l
Question 19:
n(n + 1)(n + 5), H&&1 3 &I U IS 3

Solution :

A1 <t fadr & P(n) 8, srdfq
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P(n) : n(n+ 1)(n + 5)S:1 3 &1 101 21

P1)=1x(141)(1+5)=1x2x6=12:13 &1 T30 &

forett e quifes k & fore sheamn ifSie fos P (k) @ &, srafd

P(k) : k(k+ 1)(k + 5):Y 3 &1 0T 871

k(k+1)(k+5) =3mVme\N  ....(>d)
sggnfligaafd P(k+ 1) fiaxag,
= (k+1)[(k+1)+1][(k+1)+ 5]
= (k+1)(k+2)[(k+1) + 5]
= (k+1)(k+2)[(k+5) +1]
= (k+1)(k+2)(k+5) + (k+1)(k +2)
:>(k+2)[(k:+1)(k:+5)} (k+1)(k+2)

= [k(k +1)(k + 5) + 20k + 1) (k + 5)| + (b +1)(k +2)

N [3m 42k + 1) (k + 5)} F(k+1)(k+2)  ...eql) @

=3m+2k+1)(k+5)+(k+1)(k+2)
:>3m+(k+1)[2(k+5)+(k+2)}

:>3m+(k+1)[2k+10+k+2}

= 3m + (k+1)(3k + 12)
= 3m+3(k+1)(k+4)

=3 [m +(k+1)(k+ 4)} St 3 T MU B
ggusR, P(k + 1) 9@ 8, sl &+t P(k) 9@ 81
3d: MO T gl & |t urepa demsit N & faw s P(n) 9 8l
Question 20 :
10271 4 1 e 11 @ oo 21
Solution :
A1 <t fadr e P(n) 8, i

P(n) : 10! + 1 wim:@:1 11 @ 93 gl

P(1): 10771 41 =10+ 1 = 11 @i@:@:1 11 8 9153 g7
foett e quifen k & forg sheamn ifSie fos P (k) o &, srufd
P(k) : 10%*7! 4 1 wimg:1 11 82 wasrg g2
10141 =11mVme\N ....(d

s Rgdifh P(k+ 1) fiaag,
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= 102*+)-1 4 1

— 102F2-1 41

= 102k+1 + 1

= 10% (10°*"") +1

=10° (10%* '+ 1-1) +1

= 10° (10 '+ 1) —10* + 1

= 10*-11m —100+1  ...eq(i) &
= 10%-11m — 99

= 11(100m — 9) §@:7=1 11 ¥ W:T5:7 5

sg9ueR, P(k+ 1) 9@ g, sa &t P(k) 9@ 8l
31d: Tforcf S fligia & Tt uteha dw@aei N & e wed P(n) 9 81

Question 21 :
2 — ", (z + y) daaT R

Solution :
A1 <t fedr & P(n) 8, i

P(n) : 2®" — y**, (z + y)&@ W1F 83

P():2*' — =2~ = (z + y)(z — 9) (z + y)& wI=T
foett e quifens k & forg sheamn ifSe fos P(k) o &, srfd
P(k) : 2% — % (2 4 y)& wrra sl
2~y —m(z+y)Vm e \N N )
sggfRgdifh P(k+ 1) fiaag,

g2kt _ y2(k+1)

= g2R2 2k

= 22 (27%) — o2 (1)
= $2 (:L,2k - yzk + yzk) . y2 (yzk)

= 2 (m2k _ yzk) + xzyzk _ y2 (yzk)

s 22a(zty) +2% P %) . eql) @
= 2% a(z +y) + ™ (¢* — o)

=2 a(e +y) + vz +9)(z —y)

= [2*-a + y*(z — y)]

= [az® + (z — y)y**], (z + y)&@ WA

ggusR, P(k+ 1) 9@ 8, sl &t P(k) 9@ 81

3d: oI ST fagia & |t ugha dwarsit N & e e P(n) 9@ 81

Question 22 :

32n+2 _ 8p — 9, G 8 § WIST Bl
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Solution :
A1 <t fadr e P(n) 8, 3rdfq

P(n) : 3*"? — 8p — 9, @'@:T:1 8 @ WS- T €7

P(1):3¥12 _8x1-9=3"—-8—-9=2_81—17 = 64,59:@:318 T H:T:F g"|
foeft e quifes & o forg aheamt difSe 6 P(k) @ 8, srarfa
P(k) : 3% _ 8k — 9, w'@:a18 @ H-T-T
3%t2 _8k—9=8mVYme\N ....(i)
sggafigdAfh P(k+ 1) fiaag,

P(k+1): 32k D42 _g(k4+1)—9
= 32k+2+2 8 —8—9
= 3% _ gk — 17
= 32 (3%1%) — 8k — 17
= 32 (3% -8k —9+8k+9) — 8k — 17
= 32 (32 — 8k —9) + 3% (8k +9) — 8k — 17
=32.8m +9(8k+9) —8k—17  ...eq(i) &
= 3%.8m + 72k + 81 — 8k — 17
= 9-8m + 72k — 8k + 81 — 17
= 9-8m + 64k + 64
= 8 (9m + 8k + 8), @71 8 T WIS &

g9 ueR, P(k + 1) 9@ g, s &t P(k) 9@ 8l

3d: O ST Rigia & |t urepa st N & faig s P(n) 9 81
Question 23 :

41" — 14", | 27 &1 Ueh 0TS g

Solution :

A i faar wem P(n) 8, 9rafq

P(n) = 41" — 14", 9:@:7:1 27 &1 Teb T01S g2

P(1) : 41' — 14 = 41 — 14 = 27,9@:7-1 27 &1 Teh 051 &
P(n),n=1% v o=l
AA AT P(n), n = k & A g 81
P(k) : 41% — 14* @:@:3:1 27 &1 Qe .01 &7
41" — 14 =2TmVm e \N  ....(4)

g fRgdifh P(k+ 1) fiaag,

4. OIS & fagid 26
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= 41k+1 o 14k+1

= 41-41%—14. 14"

= 41(41F — 14% + 14%) — 14 - 14*

= 41(41F — 14%) + 41 - 14% — 14 . 14*

=41-2Tm+41-14"—14- 14" . eq(i) &

= 41-27m + 14%(41 — 14)
= 41-27m + 14%. 27

= 27(41m + 14%), wi@:@:1 27 &1 e 7,01 87

g9 ueR, P(k + 1) 9@ g, s &t P(k) 9 8l
31d: Tford ST figia & |t utehd dw=@reit N & e wed P(n) 9 81
Question 24 :

(2n+7) < (n+3)?
Solution :
A & fear e P(n) 8, aefq

P(n):(2n+7) < (n+3)?

n=1
LHS =
P(1):2x1+4+7=2+7=9
RHS =
P(1):(1+3)*=4*=16
LHS < RHS ¥ 81

foret e quifen k & e sheaen hifSie &6 P (k) o &, srarfa
Pk): 2k+7) < (k+3)2 ....(0)
sggfligdAfh P(k+ 1) fiaxag,

Pk+1):2(k+1)+7
=2k+247
= 2k+7)+2
<(k+3)2+2 ...eq(i)®
<k 4+6k+9+2
<k +6k+11

[(k+1)+3*=(k+4)* =k +8k+16
kA4 6k+ 11 < K+ 8k + 16
22k 1) 47 < [(k+1) + 3]

g9 ueR, P(k + 1) 9@ g, sl &t P(k) 9@ 81
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3: O ST figia & |t urepa st N & foig s P(n) 9 &1
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